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Results of Initial Assessment

Evaluate your computer skills using a spreadsheet such as Excel:

0 None    3 Minimal     5 Can use one if I have to       17 Good       2 Excellent

Evaluate your computer skills using word processing software:

0 None    1 Minimal     0 Can use one if I have to       19 Good       7 Excellent

Number of students (out of 27) who have completed the following courses:

25 Math 250     22 Math 280     27 Phys 220A       25 Phys 220B       8 EE 240    17 CE 240

Ungraded questions
Correct answers shown below as well as number of students (out of 27) who got correct, partially correct, and incorrect answers.

1.
What is the value of ∫x3 dx?

15 Correct, 10 Missing C, 2 Incorrect

Answer: x4/4+C

2. What is the first derivative of eax?

16 Correct, 9 Missing a, 2 Incorrect
Answer: aeax

3. A 10 kg mass is accelerated from rest at an elevation of zero to a velocity of 10 m/s.

(a) Determine the change in kinetic energy. 
19 Correct, 3 Partial, 5 Incorrect
Answer: 
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(b) Determine the change in potential energy. 
6 Correct, 1 Partial, 20 Incorrect 

Answer: We are not given the second elevation or the gravitational acceleration.  Assume that there is no elevation change so that (PE) = 0.  If we had second elevation and assumed standard gravity, calculation would proceed as follows: 
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(c) Determine the work required:
3 Correct, 0 Partial, 24 Incorrect
Answer: For a conservative system, the work is the change in kinetic plus potential energy.  Hence, for this case the work is 500 J.
4.
You have two data points (x = 1, y = 2) and (x = 2, y = 10); estimate the value of x at y = 8.
15 Correct, 7 Partial, 5 Incorrect
Answer: use the equation for a straight line to interpolate to the desired value 


[image: image3.wmf]75

.

1

4

7

8

14

8

6

1

)

2

8

(

2

10

1

2

1

)

y

y

(

y

y

x

x

x

x

1

1

2

1

2

1

=

=

=

+

=

-

-

-

+

=

-

-

-

+

=


5.
Round 123.4567 to four significant figures. 
16 Correct, 1 Partial, 10 Incorrect
Answer: 123.5 or 1.235x102
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